BIC

log[ Relative Probability ]

—200

Window Half—Width (km/s)

10%

5%x10°

2x10°

10

—-100

1000 10*

100

rm519 2/(412689 ~5078)=0.937
T | T | T | |
I : : B 447553 22 ABIC 0.000 AlogP 0.0000 ]
i : : X% 381892.41 Ax? 0.000 AlogP 0.0000 A
. — Z 1
. BIC
b e ——
. PR T I SRR T
X
I ABIC —56974 1054 ( ]
A —56974 —-109.4
4988 4988 5078
A . . ACs '. . ACSF . .
20 40 60 80 100 120
120 iterations
rm519 2/(412689 ~5078)=0.937
N T T T T T T I
I BIC 447553.22 ABIC 0.000 AlogP 0.0000 |
2 2
___________________ e
L 4988 . . ... T D 4088 ... 5078. . ... ... .. ... i
i A ' AC AC.F ]
. ! il ! 5 . ! [ I S ! T
20 40 60 80 100 120
120 iterations
Fe2 10% 345157 km/s
rm519 BLR 4830 NLR 900 km/s
F T | T | T | T | | !
L S S— S —— -
NLR
Fell
20 40 60 80 100 120

120 iterations

kdh1 8-0ct-2021 20:28



